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Determining Reasonable Answer Name:
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 )
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1
» Anything times5 HAS to end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2.
» Anything times 10 HAStoend in aO. Ex. 10x7=70 10x 16=160 3.
\ /
1) 296 x 10=2,968 2) 817x5=4,085 4.
5.
3) 10 x 607 = 6,070 4) 455x5=2,279
6.
7.
5) 902 x 10=19,029 6) 308 x5=1,540
8.
7) 10 x 255=2,550 8) 5x427=2,135 9
10.
9) 5x707=23539 10) 2x861=1,723
11.
11) 252 x10=2520 12) 2x517=1,034 12.
13.
13) 137x5=688 14) 5x214=1,070
14.
15) 10 x 441 = 4,410 16) 657 x 2=1,314 1
16.
17) 2x609=1,219 18) 922x2=1,845 .
18.
19) 10 x 964 = 9,643 20) 907 x 2=1,815
19.
20.
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Determining Reasonable Answer Name: Answer Key
Determineif the answer shown isreasonable (yes) or not (no). Answers
/ \
* Anything times2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1 no
» Anything times5 HAS to end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2. YES
« Anything times 10 HAS to end in a 0. Ex. 10x7=70 10x16=160 3. YES
L /
1) 296 x 10 = 2,968 2) 817 x 5= 4,085 + no
5, no
3) 10 x 607 =6,070 4) 455x5=27279
6. YyE€s
7. y€s
5) 902 x 10=19,029 6) 308 x5=1,540
8. YEs
7) 10 x 255=2,550 8) 5x427=2,135 9. no
10. no
9) 5x707=23,539 10) 2x861=1,723
11, yes
11) 252x10=2,520 12) 2x517=1,034 12. YES
13. no
13) 137 x5=688 14) 5x214=1,070
14, yes
(S
15) 10 x 441 = 4,410 16) 657 x2=1,314 1 y
16. YyE€s
17) 2x609=1,219 18) 922 x2=1,845 no
17.
18. no
19) 10 x 964 = 9,643 20) 907 x2=1,815
19. no
20. no
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